



St. Louis County, Minnesota

Date of Report: 12/17/2025 4:13:51 AM

General Details

 Parcel ID:
 175-0070-01441

 Document:
 Abstract - 1074356

 Document Date:
 02/06/2008

Legal Description Details

Plat Name: MT IRON

Section Township Range Lot Block

14 58 18 - -

Description: PART OF NW1/4 OF NW1/4 & PART OF SW1/4 OF NW1/4 BEG AT NW COR OF NW1/4 OF NW1/4 THENCE

S89DEG17'28"W ASSIGNED BEARING ALONG N LINE 1303.13 FT THENCE S01DEG46'24"E 656.09 FT THENCE S44DEG46'16"W 1841.26 FT TO W LINE OF SW1/4 OF NW1/4 THENCE N00DEG46'11"W 1979.24FT TO PT OF

BEG

Taxpayer Details

Taxpayer Name ROSKOSKI LEONARD J
and Address: 8680 UNITY DRIVE
MT IRON MN 55768

Owner Details

Owner Name ROSKOSKI LEONARD J REVOCABLE TRUST

Payable 2025 Tax Summary

2025 - Net Tax \$4,614.00

2025 - Special Assessments \$0.00

2025 - Total Tax & Special Assessments \$4,614.00

Current Tax Due (as of 12/16/2025)

Due May 15		Due October 15		Total Due			
2025 - 1st Half Tax	\$2,307.00	2025 - 2nd Half Tax	\$2,307.00	2025 - 1st Half Tax Due	\$0.00		
2025 - 1st Half Tax Paid	\$2,307.00	2025 - 2nd Half Tax Paid	\$2,307.00	2025 - 2nd Half Tax Due	\$0.00		
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00		

Parcel Details

Property Address: 8680 UNITY DR, MOUNTAIN IRON MN

School District: 712
Tax Increment District: -

Property/Homesteader: ROSKOSKI, LEONARD & JANICE

Assessment Details (2025 Payable 2026)								
Class Code Homestead Land Bldg Total Def Land Def Bldg Net (Legend) Status EMV EMV EMV EMV Cap.								
203	1 - Owner Homestead (100.00% total)	\$49,800	\$398,800	\$448,600	\$0	\$0	-	
112	0 - Non Homestead	\$27,200	\$0	\$27,200	\$0	\$0	-	
	Total:	\$77,000	\$398,800	\$475,800	\$0	\$0	4601	





St. Louis County, Minnesota

Date of Report: 12/17/2025 4:13:51 AM

Land Details

Deeded Acres: 40.00 Waterfront: Water Front Feet: 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00

ot wiatn:	0.00						
ot Depth:	0.00						
ne dimensions shown are no tps://apps.stlouiscountymn.	ot guaranteed to be s gov/webPlatsIframe/f	survey quality. AfrmPlatStatPop	Additional lot inf Up.aspx. If ther	ormation can be are any ques	e found at tions, please email Property1	Γax@stlouiscountymn.gov	
		Improve	ment 1 Deta	ails (HOUSE	<u> </u>		
Improvement Type	Year Built	Main Flo	oor Ft ² Gr	oss Area Ft ²	Basement Finish	Style Code & Desc.	
HOUSE	2012	1,70	08	2,653	-	1S+ - 1+ STORY	
Segment	Story	Width	Length	Area	Founda	tion	
BAS	1.7	30	42	1,260	FLOATING	SLAB	
ОР	1	6	42	252	FLOATING	SLAB	
Bath Count	Bedroom Co	ount	Room Cou	ınt	Fireplace Count	HVAC	
1.75 BATHS	3 BEDROOM	MS	-		0	C&AC&EXCH, GAS	
		Improven	nent 2 Detai	ls (POLE BI	_D)		
Improvement Type	Year Built	Main Flo	oor Ft ² Gr	oss Area Ft ²	Basement Finish	Style Code & Desc	
POLE BUILDING	0	2,3	52	2,352	-	-	
Segment	Story	Width	Length	Area	Founda	tion	
BAS	1	42	56	2,352	FLOATING	SLAB	
		Improveme	nt 3 Details	(ATT GARA	AGE)		
Improvement Type	Year Built	Main Flo	Floor Ft ² Gross Area Ft ²		Basement Finish	Style Code & Desc	
GARAGE	2012	84	0	840	-	ATTACHED	
Segment	Story	Width	Length	Area	Founda	tion	
BAS	1	28	30	840	FLOATING SLAB		
		Improven	nent 4 Detai	ls (12X20 CI	PT)		
Improvement Type	Year Built	Main Flo		oss Area Ft ²	Basement Finish	Style Code & Desc	
CAR PORT	0	24	0	240	-	- -	
Segment	Story	Width	Length	Area	Founda	tion	
BAS	1	12	20	240	POST ON G	ROUND	
		Improver	nent 5 Deta	ils (VINYL S	ST)		
Improvement Type	Year Built	Main Flo		oss Area Ft ²	Basement Finish	Style Code & Desc	
STORAGE BUILDING	2019	11.	2	112	-	- -	
Segment	Story	Width	Length	Area	Founda	tion	
BAS	1	8	14	112	POST ON GROUND		
		Improve	ement 6 Deta	ails (CNTNF	R)		
Improvement Type	Year Built	Main Flo		oss Area Ft ²	Basement Finish	Style Code & Desc	
STORAGE BUILDING	0	32	0	320	-	-	
Segment	Story	Width	Length	Area	Founda	tion	
BAS	0	8	40	320	POST ON G	ROLIND	





St. Louis County, Minnesota

Date of Report: 12/17/2025 4:13:51 AM

		Improver	nent 7 Details	(Paver pat)						
Improvement Type Year Built		•		s Area Ft ²	Basement Finish S			Style Code & Desc.		
0		19	195			=	CON - CONCRETE			
Segme	nt Stor	y Width	Length	Area		Found	ation			
BAS	0	13	15	15 195		-				
		Improven	nent 8 Details	(Slab patio)						
Improvement Type Year Built		Main Flo	Main Floor Ft ² Gross Area F		Basement Finish Sty			tyle Co	yle Code & Desc.	
	0		288 28		3 -			STC - STAMPCOLOR		
Segme		•	Length Area		Foundation					
BAS	0	8	8 36 288			-				
	;	Sales Reported	to the St. Lou	uis County Au	ıditor					
Sa	le Date		Purchase Pric	е	CRV Number					
02	2/2008		\$40,000				180915			
		As	ssessment Hi	story						
Year	Class Code (Legend)	Land EMV	Bldg EMV	Total EMV		Def Land EMV	BI	ef dg /IV	Net Tax Capacity	
2024 Payable 2025	203	\$51,900	\$374,300	\$426,20	00	\$0	\$	0	-	
	112	\$16,600	\$0	\$16,60	0	\$0	\$	0	-	
	Total	\$68,500	\$374,300	\$442,80	00	\$0	\$	0	4,288.00	
	203	\$51,900	\$384,600	\$436,50	00	\$0	\$	0	-	
2023 Payable 2024	112	\$16,600	\$0	\$16,60	0	\$0	\$	0	-	
,	Total	\$68,500	\$384,600	\$453,10	00	\$0	\$	0	4,473.00	
	203	\$51,900	\$315,900	\$367,80	00	\$0	\$	0	-	
2022 Payable 2023	112	\$16,600	\$0	\$16,60	0	\$0	\$	0	-	
,	Total	\$68,500	\$315,900	\$384,40	00	\$0	\$	0	3,745.00	
2021 Payable 2022	203	\$47,600	\$254,200	\$301,80	00	\$0	\$	0	-	
	112	\$14,900	\$0	\$14,90	0	\$0	\$	0	-	
	Total	\$62,500	\$254,200	\$316,70	00	\$0	\$	0	3,014.00	
		7	Tax Detail Hist	tory						
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Special		Taxable Building		Total Taxable MV		
2024	\$4,674.00	\$0.00	\$4,674.00	\$68,50	0 \$384,600		00	\$453,100		
2023	\$4,028.00	\$0.00	\$4,028.00	\$67,91	6	\$312,346		\$380,262		
2022	\$3,658.00	\$0.00	\$3,658.00	\$60,91	10 \$245,712		2	\$306,622		





St. Louis County, Minnesota

Date of Report: 12/17/2025 4:13:51 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.